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tre desimaler, operasjonsrekkefølge med parenteser

5, 6(3, 6 − 3, 3) = (2, 2 + 2, 9) × 4, 1 =

5, 7(3, 5 + 5, 3) = (4, 2 − 6, 2) × 5, 6 =

(40 + 55, 2) ÷ 8 = (6, 5 + 5, 7) × 6, 7 =

(30, 5 − 21) ÷ 5 = (5, 3 + 4, 5) × 2, 8 =

3, 2(5, 6 + 5, 1) = (33, 3 − 36) ÷ 9 =
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tre desimaler, operasjonsrekkefølge med parenteser

5, 6(3, 6 − 3, 3) = 1.68 (2, 2 + 2, 9) × 4, 1 = 20.91

5, 7(3, 5 + 5, 3) = 50.16 (4, 2 − 6, 2) × 5, 6 = −11.2

(40 + 55, 2) ÷ 8 = 11.9 (6, 5 + 5, 7) × 6, 7 = 81.74

(30, 5 − 21) ÷ 5 = 1.9 (5, 3 + 4, 5) × 2, 8 = 27.44

3, 2(5, 6 + 5, 1) = 34.24 (33, 3 − 36) ÷ 9 = −0.3
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